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TOTAL: 20 MARKS.

QUESTION 1

Read each statement carefully and then choose the correct option. Indicate your

answer by colouring in the letter corresponding to the correct option, for example: [

1.1 The radio frequency exchange consist of two technologies, one 1s used withm
relatively small areas, such as distribution centres, to facilitate two-way information
exchange, the other one identifies containers as its moves through facilities or on
transport equipment These technologies are known as

(1) enterpnse resource planning

(n) racho frequency 1dentification

() radio frequency data communication
(v) customer relationship management

[A] (1) and (n)

[B] (i) and (i}

[C] (u), (m) and (Iv)
[D] (), (u), (m}) and {1v)

1.2 The rationale for advanced planning and scheduling system consists of four
components, The component that generates sales forecasts based on sales history
and the one that defines and coordinates supply chain information resources and
constraints, are known as

(1) demand management

(n) resource management
(m) resource optimisation
(v) resource allocation

[A] () and (n)

[B] (n) and (in)

[C] (u),{ut) and (iv)
D] (1), (w), (m) and ()

1.3 The classification of a logistical system that refers to the flow of products, typically
proceeds through a common arrangement of firms and faciites as it moves from
origin to final destination, s called

[A] echeion structure
[B) direct system

[C] combined system
[D] fiexible system

1

(1)
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Warehouses are used to store, sort and sequence matenals and combine inventory {1}
for consolidated shipment facilihies to the next destination customers in the supply

chain Warehouses used to support customer accommodation are often referred to

as warehouses

[A] suppty-facing

[B] demand-facing

[C] value-facing

[D] manufactunng-facing

The method that assumes that a centre of gravity (or movement) represents the (1)
point where a warehouse will results in the lowest cost, 1s known as

[A] ton-centre solution

[B] mile-centre solution

[C] ton-mile-centre solution

[D] tme-ton-mile-centre solution

"If safety stock availability were established at 97 75 percent for combined (1)
probability of demand and lead time uncertainty, it would be anticipated that
approximately 98 out of 100 tems ordered would be delivered as specified" To

which one of the following approaches in the logistics strategy does this example

refer?

[A] cost mintmisation level
[B] threshold service level
[C] service sensitivity level
[D] safety stock level

The warehouse structure of the logistical system establishes the service thatcan be (1)
realised without changing the performance cycle or safety stock policy The above
statement refers to

[A] location modification

[B] performance cycle modification
[C] safety stock modification

[D] order cycle modification

Which of the following are steps in the process to finalise a company's strategy? (1)

(1) conducting a sensttivity analyses

(1) measunng service availability and capability
(1) determine the lowest-total-cost network

(v) determine the location of warehouses

[A] (1) and (n)
[B] (n) and ()

[TURN OVER]
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[C] (n), (m) and (1v)
[D] (1), (u), (m) and (iv}

A model of mathematical programming that can be used in determining the location (1)
for a single facility, 1s known as

[A] an analytic model

[B] an optimisation modei
[C} a simulation model
[D] a ton-mile model

There are two techniques for location decisions The one 15 used when attempting to (1)
test the proposed logistical system in a real-world environment in order to
investigate the effect of implementing a specific logistical system, the other one to
determine the optimum location site for a single warehouse by means of weight,
distance and time cntena These techniques are known as and

techniques

(1) mathemattcal
(n ) analytic

(m) simulation
{iv) geographical

{A] (1) and (1)

[B] (1) and {m)

{C] (), () and (i)
D] (1), (), (m) and (1v)

Is the magnitude of stock-out rather than the probability thereof (1)

[A] Performance cycle
[B] Fill rate

[C] Safety stock

[D] Reorder point

The transport decision concemed with the allocation of short-term resources such as (1)
daily or weekly routes, 1s known as a

[A] strategic transport decision
[B] tactical transport deciston
[C] strategic routing decision
[D] transport analysis decision

[TURN OVER]
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Which one of the following categones of transport techniques uses mathematical (1)
(inear)} programming to identify the best routes?
[A] heunistic approaches
[B] interactive approaches
[C] combination of three approaches
[D] exact approaches
When formulating a logistical strategy, it 1s necessary to evaluate the relationship (1)

between alternative customer service levels and associated cost A system
designed to achieve a least-total-cost driven purely by a cost-to-cost trade-off, is
known as

[A] cost mimimisation level
[B] threshold service level
[C] service sensitivity level
[D] safety stock level

Suppose you open a dairy to sell milk Your average daily demand 1s 20 litres of milk (1)
and the average performance cycle 1s 10 days What is your reorder point?

[A] 20 litres
[B] 200 itres
[C] 30 hitres
[D] 2 itres

Which of the following 1s included in the application onentated modules of the supply (1)
chain information systems information framework?

(1) enterpnse integration and administration
(n) enterpnse planning and monitonng

(i} communication technology

(v} financial and operations reporting

[A] (1) and ()

[B] (n) and (in)

[C] (), (i} and (v)

D] (1), (u), {m) and (1v)

"To protect against stock-out when demand exceeds forecast, safety stock1s added (1)
to base inventory " To which type of uncertainty, that directly impact the inventory

policy, does this statement refer?

[A] demand uncertainty

[B] performance cycle uncertainty
[C] safety stock with uncertainty
[D] fill rate uncertainty

{TURN OVER]
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1.18 Information-sharning technology I1s cntical to facilitate logistics and supply chain (1)
planning and operations Which one of the following logistics communication
systems allows supply chain members to quickly track and communicate movement
details with high accuracy and timeliness?

[A] barcode and scanning

[B] radio frequency exchange
[C] iInternet

[D] global data synchronmisation

1.19 One of the major components of supply chain information systems designed to (1)
assist In evaluating the supply chain alternatives and advise supply chain decision
making, 1s known as

[A] enterpnse resource planning systems
[B] communication systems

[C]} execution systems

[D] planning systems

1.20 The supply chain information systems are the thread that inks logistics activities (1}
into an integrated process and consist of four levels of functionalty Which one of
the following I1s characterised by formalised rules, procedures and standardised
communications, large volume transactions and an operational day-to-day focus?

[A] transaction system
[B] management control

[C] logistics decision analysis
[D] strategic planning

[20]

[TURN OVER]
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AﬁSWER ANY '!WO {2) OF THE THREE {3} QUESTiO&S IN THIS SEC’HDN

TOTAL: 50 MARKS

QUESTION 2

. - Pretoria Forfland Cement c:;mpany Lid (F*P(;} s & cement eempan situated in
Prahana that selisits pwduct gver a broad gwaphmai mamet area, it dac;ded
npen a senall warehnuse fnr its eusmers iry gehmriesburg

i
Jh"\.{

Assuma fhat the mpany‘s avmge sh@mmtsiza is 4 000 kg from Pfatona ta

Jﬂhannesbnrg and »the sost afizmsmrt 15 RE0 per 10!) kg

f@r the vo&zma af shxpment anwuntmg {05000 kg or graateris Rm per 100 kg,

PRV
\"-_, . - P
- - LI
E— .

-

2, 1:1:: mer much wcﬂid ma fre;ght rate of a ioca! shnpment p&f 4: Qaﬁ kg be?
2127 Hc:w mach wautd the fre;ght mte of & jocat shipment per 7009 kg be?.

2. m Piaw rouch showld the avafage - distrbution a}ost beifd warehausa could hé\

estaﬁﬁsﬁed m;he Jahannesburg area?

R - s

s

'fhe goat ot transpcrt within the: Johannesburg area is RG: pet 100 kg, hﬂwever

to

Ml
4 -
{2

i8]

211 How much would the freight rate of a local shipment per 1 000 kg be?

4)

212 How much would the freight rate of a local shipment per 7 000 kg be?

(4)

[TURN OVER]
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213 How much should the average distnbution cost be if a warehouse could be (2)

22

established in the Johannesburg area?

"Enterpnse resource planning and enterpnse execution planning are known as the  (15)
major components of logistics information systems"

Do you support the above statement or not? State and discuss three reasons for

your answer

{TURN OVER]
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UESTION 3

The City Centre Tile Market situated in Groenkloof has received a number of
customer complaing related {0 incomplete orders as a result of shortages in
stock and other delivery failures. Advise them on how 3 pre-planined strategy
can be used {o improve customer service by referring to the following:

3.1.1  Fouraltemative ways 10 meet specific service requirement (9}
3.1.2  Astucture showiig flexibility in the logistics operating system 13}

{15}
311 Fouralternative ways to meet specific service requirement (9)

[TURN OVER]
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312 A structure showing flexibility in the logistics operating system (6)

[TURN OVER]
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32 Explain the last step to be followed when conducting a trade-off between service (10)
and cost, by illustrating with a figure how logistics cost and the number of
warehouses I1s weighed against each other

[25]

[TURN OVER]
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QUESTION 4

- Discuss transport decisions as one of the methods or technigques of

. develupir;g the mglattc;a network. Refer o the following: -

4.1 Five transport problems that nead fo bs analysed when a fogistics network is (51
.~ being developed
4.2 . Thetechmaues to an&lyse transporiation . . (15}
4.3 . Three types of data required to analyse transport ‘ {10} -
428}
41 Fwe transport problems that need to be analysed when a logistics network 1s being (5)
developed
42 The techniques to analyse transportation (10)

[TURN OVER]
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43 Three types of data required to analyse transport {10)

[TURN OVER]
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